A
rd
M
-3

RIKLZ AR R
DFU RFIFER~T3*&

Q7
(Oil hole)

=
i
i
i
\

B {:mm

= | $ | 2igR < T | BEE
el PR - aw | am

| | Da [D|A|B|L|W|H]X Q n @zl Coa

DFUR1604-3 4 238128 | 48| 10| 80 | 38 | 40 5 Méx1 1x3 488 940
¥ | DFUR1605-4 | 16 5 |3.175| 28 | 48 | 10 (100 38 | 40 5 Méx1 1x4 885 1525
¥ | DFUR1610-3 10 | 3.175| 28 | 48 | 10 (118 38 | 40 5 Méx1 1x3 716 1232
DFUR2004-3 4 |12.381 |36 |58 | 10| 80 (47 | 44 | 6.6 Méx1 1x3 541 1187

Y| DFUR2005-4 20 5 [3.175( 36 | 58 | 10 (101 | 47 | 44 | 6.6 Mé6x1 1x4 999 1994
DFUR2504-3 4 238140 | 62 | 10 | 80 | 51 | 48 | 6.6 Mé6x1 1x3 605 1534
Y| DFUR2505-4 | 25 | 5 |3.175| 40 | 62 | 10 [101| 51 | 48 | 6.6 Méx1 Tx4| 1119 2581
¥¢ | DFUR2510-4 10 | 4.762 | 40 | 62 | 12 [145| 51 | 48 | 6.6 Méx1 x4 | 1927 2771
Y| DFUR3205-4 39 5 |3.175| 50 | 80 [ 12 [102| 65 | 62 9 Méx1 x4 | 1264 3402
DFUR3210-4 10 | 6.35 | 50 | 80 | 12 (162 65 | 62 9 Méx1 1x4| 3092 6101
DFUR4005-4 5 |3.175| 63 | 93 | 14 [105( 78 | 70 9 M8x1 Tx4 | 1407 4341
DFUR4010-4 40 10| 6.35 | 63 | 93 | 14 (16578 | 70 9 M8x1 1x4 | 3480 7979
DFUR5010-4 | 50 [ 10 | 6.35 | 75 |110| 16 [171| 93 | 85 | 11 M8x1 1x4 | 3898 10325
DFUR6310-4 10 | 6.35 | 90 [125] 18 [182|108| 95 | 11 M8x1 1x4 | 4401 13611
DFUR6320-4 63 20 [ 9.525| 95 |135| 20 [290|115[100|13.5| M8x1 1x4 | 7404 19008
DFUR8010-4 o 10 | 6.35 |105|145( 20 [182(125|110(13.5| M8x1 1x4 | 4900 17366
DFUR8020-4 20 | 9.525|125(165| 25 [295|145]|130(13.5| M8x1 1x4 | 8403 | 25345

£1  BFOEDNIES E THEERL,




